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D) @X° +5X+3)+(2x° +5x° =T X)=4X° +2X° +5X -7 X +3 +5X%°
=6X° —2X+3 +5x%°
=6X> +5X° —2X +3
2) 2x° =TX° +X=5)=(x* -8x° +x -3)
(2X° =TX° +X=5)+ (=X’ +8X° =X +3)= 2% =X° =T X° +8X° +X-X-5+3
=x* +x° -2



Goad) Gl 8 adR5 ) sl e e gal) oy
:E_‘lj...a.hmg'l .._-.J 4_1“.11_1:1\ :’1_1_).&.“ _J.!_"1\.i.4.1|1 — :(3) d&

1) 4(3x° =5x+2)=(4x3)x* —(4x5)x +(4x2)
=12x° -20x +8

2) =3x(2x* =3x* +5x +1)=—(3x2)x*** +(3x3)x** —(3 x5 )x*** —(3 x1)x
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3) (3xy +3)(5x3y2+2)=3w(5x3y2+2)+3(5x3y2+2)
=15x"y° +6xy +15x°y* +6

4) (2)@/2 —5x2y)(3x2 -6y +5)=2xy2(3x2 -6y +5)—5x2y (3x2 -6y +5)
=6x°y°—12xy° +10xy > —=15x"*y +30x°y * —=25x°y
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5x3+10x2—15x_5x3+10x2 15 x
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15x°y? -5x°y +5xy 15x°y? _5x2y/+5/xy/
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2)

=3x*y Tt —x*t 41

=3Xx°’y —x+1



